

Approximation by Generalized λ -Kantorovich Operators

Sangeeta Garg

Department of Science, Mewar Institute of Management (CCS University), Vasundhara, Ghaziabad (Delhi-NCR), India.

Email : ¹ sangeetavipin7@gmail.com

Abstract - In this paper we deal with λ -Kantorovich operators which are to be generalized. These λ -Kantorovich operators are some modification of Bernstein operators which depends on parameter $\lambda \in [-1,1]$. We consider here the Stancu type generalization of these type of linear positive operators, λ -Kantorovich operators. We obtain their moments and prove Voronovskaya type theorem as well as Grüss-Voronovskaya type theorem for such operators.

Keywords: Bernstein operators; λ -Kantorovich operators; Peetre's K -functional; Stancu type generalization; Voronovskaya Theorems.

2020 Mathematics Subject Classification: 41A10, 41A25, 41A36.

INTRODUCTION

In the year 1912, Bernstein [6] introduced the Bernstein polynomials in order to prove Weierstrass first fundamental theorem. The Bernstein polynomials have too notable approximation properties to make an area of intensive research. Referring [13]-[16] etc. the Bernstein polynomials of order n are given by

$$B_n(f, x) = \sum_{k=0}^n b_{n,k}(x) f\left(\frac{k}{n}\right),$$

where $x \in [0,1]$ and $b_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}$.

Recently CAI Et Al. [7] introduced and considered a new generalization of the Bernstein polynomials depending on the parameter λ as follows:

$$B_{n,\lambda}(f, x) = \sum_{k=0}^n \tilde{b}_{n,k}(\lambda, x) f\left(\frac{k}{n}\right)$$

where $\lambda \in [-1,1]$ and

- $\tilde{b}_{n,0}(\lambda, x) = b_{n,0}(x) - \frac{\lambda}{n+1} b_{n+1,1}(x)$
- $\tilde{b}_{n,k}(\lambda, x) = b_{n,k}(x) + \lambda \left\{ \frac{n-2k+1}{n^2-1} \right\} b_{n+1,k}(x) - \frac{n-2k-1}{n^2-1} b_{n+1,k+1}(\lambda, x)$
- $\tilde{b}_{n,n}(\lambda, x) = b_{n,n}(\lambda, x) - \frac{\lambda}{n+1} b_{n+1,n}(\lambda, x)$

Particularly, if $\lambda = 0$ then λ -Bernstein operators reduce to the well-known Bernstein operators. Acu et al. [2],[3] have deeply studied many interesting approximation properties of the λ -Bernstein operators such as uniform convergence, rate of convergence in terms of modulus of continuity, Voronovskaya type pointwise convergence and shape preserving properties.

The classical Kantorovich operators [17] are the integral modification of Bernstein operators so as to approximate integrable functions defined on $[0,1]$. These operators and several other Kantorovich variants attracted the interest of number of authors viz. Özarslan-Duman [19], Dhamija-Deo [8], Acu-Rasa [4] and

Gupta [12] etc. Now the Kantorovich variant of λ -Bernstein operators are

$$K_{n,\lambda}(f, x) = (n+1) \sum_{k=0}^n \tilde{b}_{n,k}(\lambda, x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt \quad \dots \quad (1.1)$$

In 1983, D.D. Stancu [20] introduced an important generalization of operators for $0 \leq \alpha \leq \beta$. Our aim is to consider the Stancu type generalization of operators (1.1) which make our study more general. Several authors [5], [11] have considered Stancu type generalization for various operators and obtain valuable results. Stancu type generalization of operators (1.1) for $0 \leq \alpha \leq \beta$, can be represented as

$$K_{n,\lambda}^{\alpha,\beta}(f, x) = (n+1) \sum_{k=0}^n \tilde{b}_{n,k}(\lambda, x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f\left(\frac{nt + \alpha}{n + \beta}\right) dt. \quad \dots \quad (1.2)$$

From here we see that $\alpha = \beta = 0$, operators (1.2) yield operators (1.1). In this paper, we discuss convergence properties and Voronovskaya type theorems for operators (1.2). In this paper we provide Grüss-Voronovskaya type theorem [1] for λ -Kantorovich Stancu operators (1.2).

BASIC RESULTS

In this section, we give some results related to our operators. These play important role to find main results.

Lemma-1 For $0 \leq \alpha \leq \beta$, if we define

$$\begin{aligned} & K_{n,\lambda}^{\alpha,\beta}(e_0, x) = 1 \\ & K_{n,\lambda}^{\alpha,\beta}(e_1, x) \\ &= \left(\frac{n}{n+\beta}\right) \left\{ \frac{2nx+1}{2(n+1)} + \frac{\alpha}{n} + \lambda \cdot \frac{1-2x+x^{n+1}-(1-x)^{n+1}}{n^2-1} \right\} \\ & K_{n,\lambda}^{\alpha,\beta}(e_2, x) \\ &= \left(\frac{n}{n+\beta}\right)^2 \left[\frac{3n(n-1)x^2-6nx-1}{3(n+1)^2} + \frac{\alpha}{n} \cdot \frac{2nx+1}{(n+1)} + \frac{\alpha^2}{n^2} \right. \\ & \quad \left. + 2n\alpha\lambda \left\{ \frac{(n-1)x-2nx^2}{\alpha(n+1)^2(n-1)} + \frac{1-2x-(1-x)^{n+1}}{n(n^2-1)} + \frac{n(n+1)+\alpha}{n\alpha(n^2-1)} x^{n+1} \right\} \right] \\ & K_{n,\lambda}^{\alpha,\beta}(e_3, x) \\ &= \left(\frac{n}{n+\beta}\right)^3 \left\{ x^3 + \frac{1+14nx+18n(n-1)x^2-4n(6n+1)x^3}{4(n+1)^3} \right. \\ & \quad + \frac{3n\alpha}{(n+\beta)^3} \left\{ nx^2 - \frac{n}{3} \frac{3(3n+1)x^2-6nx-1}{(n+1)^2} + \alpha \frac{2nx-1}{2(n+1)} + \frac{\alpha^2}{3n} \right\} \\ & \quad + \frac{3n^3\alpha\lambda}{(n+\beta)^3} \left\{ \frac{1-2(3n-4)x+6n(n-5)x^2-12n(n-1)x^3}{6\alpha(n+1)^3(n-1)-(1-x)^{n+1}} \right. \\ & \quad \left. + \frac{(6n^2+12n+7)x^{n+1}}{6\alpha(n+1)^3(n-1)} + 2 \frac{(n-1)x-2nx^2+(n+1)x^{n+1}}{n(n+1)^2(n-1)} + \alpha \times \right. \\ & \quad \left. \frac{1-2x+x^{n+1}-(1-x)^{n+1}}{n^2(n^2-1)} \right\}. \end{aligned}$$

The proof of the above lemma follows along the lines of Acu-Rasa [4].

Lemma2. For $0 \leq \alpha \leq \beta$, central moments for $K_{n,\lambda}^{\alpha,\beta}(f(t), x)$ are defined by

$$\begin{aligned}
& K_{n,\lambda}^{\alpha,\beta}(e_1 - e_0x, x) \\
= & \left(\frac{n}{n+\beta}\right) K_{n,\lambda}(e_1, x) + \left(\frac{\alpha}{n+\beta} - x\right) K_{n,\lambda}(e_0, x) \\
= & \left(\frac{n}{n+\beta}\right) \left\{ \frac{2nx+1}{2(n+1)} + \frac{1-2x+x^{n+1} - (1-x)^{n+1}}{n^2-1} \lambda \right\} \\
& + \left(\frac{\alpha}{n+\beta} - x\right) \\
& K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^2, x) \\
= & \left(\frac{n}{n+\beta}\right)^2 K_{n,\lambda}(e_2, x) - \left(\frac{2n}{n+\beta}\right) \left(\frac{\alpha}{n+\beta} - x\right) K_{n,\lambda}(e_1, x) \\
& + \left(\frac{\alpha}{n+\beta} - x\right)^2 K_{n,\lambda}^{\alpha,\beta}(e_0, x) \\
= & \left(\frac{n}{n+\beta}\right)^2 \left[\frac{3n(n-1)x^2 - 6nx - 1}{3(n+1)^2} + 2\lambda \cdot \frac{(n-1)x - 2nx^2}{(n+1)^2(n-1)} \right. \\
& \left. + \frac{(n+1)x^{n+1}}{n^2-1} \right] - \left(\frac{2n}{n+\beta}\right) \left(\frac{\alpha}{n+\beta} - x\right) \left\{ \frac{2nx+1}{2(n+1)} \right. \\
& \left. + \frac{1-2x+x^{n+1} - (1-x)^{n+1}}{n^2-1} \lambda \right\} + \left(\frac{\alpha}{n+\beta} - x\right)^2.
\end{aligned}$$

Lemma3. Central moments of λ -Kantorovich operators yield

$$\begin{aligned}
\left| K_{n,\lambda}^{\alpha,\beta}(e_1 - e_0x, x) \right| & \leq \sigma_{n,\alpha,\beta}^\lambda \\
\left| K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^2, x) \right| & \leq \rho_{n,\alpha,\beta}^\lambda,
\end{aligned}$$

where

$$\begin{aligned}
\sigma_{n,\alpha,\beta}^\lambda & = \left(\frac{n}{n+\beta}\right) \left\{ \frac{1}{2(n+1)} + \frac{\alpha}{n} + \frac{\lambda}{n^2-1} \right\}, \\
\rho_{n,\alpha,\beta}^\lambda & = \left(\frac{n}{n+\beta}\right)^2 \left[\frac{1}{3(n+1)^2} + \frac{\alpha}{n(n+1)} - \left(\frac{\alpha}{n}\right)^2 + \frac{2\alpha\lambda}{n(n^2-1)} \right].
\end{aligned}$$

Lemma4. The λ -Kantorovich operators yield too

- 1) $\lim_{n \rightarrow \infty} K_{n,\lambda}^{\alpha,\beta}(e_1 - e_0x, x) = 0$
- 2) $\lim_{n \rightarrow \infty} K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^2, x) = 4x^2$.

CONVERGENCE PROPERTIES OF $K_{n,\lambda}^{\alpha,\beta}$

In this section, we investigate some approximation properties of convergence for the mentioned operators and find the rate of convergence by using moduli of continuity.

Theorem1. For $f \in C[0,1]$, there exists

$$\lim_{n \rightarrow \infty} K_{n,\lambda}^{\alpha,\beta}(f, x) = f(x) \quad \text{uniformly on } [0,1].$$

Proof: It is obvious from Lemma 2 that

$$\lim_{n \rightarrow \infty} K_{n,\lambda}^{\alpha,\beta}(e_k, x) = e_k$$

on $[0,1]$ uniformly for $k = 0,1,2,3$. Hence the Bohmann-Korovkin [18] theorem states required proof.

Theorem2. For $g \in C[0,1]$, we have

$$\left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) \right| \leq 2\omega\left(g, \sqrt{\rho_{n,\alpha,\beta}^\lambda}\right),$$

where ω represents the modulus of continuity.

Proof: Applying the general property of modulus of continuity

$$|g(t) - g(x)| \leq \omega(g, \delta) \left| \frac{(t-x)^2}{\delta^2} + 1 \right|$$

we obtain

$$\begin{aligned} \left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) \right| &\leq K_{n,\lambda}^{\alpha,\beta}(|g(t) - g(x)|, x) \\ &\leq \omega(g, \delta) \left(1 + \frac{1}{\delta^2} K_{n,\lambda}^{\alpha,\beta}((t-x)^2, x) \right) \end{aligned}$$

choosing $\delta = \sqrt{\rho_{n,\alpha,\beta}^\lambda}$ and then applying lemma 4, we have the required result.

Theorem3. Let $g \in C^1[0,1]$, we can have

$$\left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) \right| \leq \sigma_{n,\alpha,\beta}^\lambda |g'(x)| + 2\omega\left(g', \sqrt{\rho_{n,\alpha,\beta}^\lambda}\right) \sqrt{\rho_{n,\alpha,\beta}^\lambda}.$$

Proof. Since $g \in C^1[0,1]$, for $x, t \in [0,1]$ we have

$$g(t) - g(x) = g'(x)(t-x) + \int_x^t \{g'(y) - g'(x)\} dy.$$

Operating both sides by $K_{n,\lambda}^{\alpha,\beta}$, we get

$$\begin{aligned} K_{n,\lambda}^{\alpha,\beta}(\{g(t) - g(x)\}, x) &= g'(x) K_{n,\lambda}^{\alpha,\beta}(t-x, x) + \\ &K_{n,\lambda}^{\alpha,\beta} \left\{ \int_x^t \{g'(y) - g'(x)\} dy, x \right\}. \end{aligned}$$

Now using well-known property of modulus of continuity, we find

$$\left| K_{n,\lambda}^{\alpha,\beta} \left\{ \int_x^t \{g'(y) - g'(x)\} dy, x \right\} \right| \leq \omega(g', \delta) \left[\frac{(t-x)^2}{\delta} + |t-x| \right], \delta > 0$$

Therefore

$$\begin{aligned} \left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) \right| &\leq |g'(x)| \left| K_{n,\lambda}^{\alpha,\beta}(t-x, x) \right| + \omega(g', \delta) \times \\ &\left\{ \frac{1}{\delta} K_{n,\lambda}^{\alpha,\beta}((t-x)^2, x) + K_{n,\lambda}^{\alpha,\beta}(|t-x|, x) \right\}. \end{aligned}$$

Applying Cauchy-Schwarz inequality and then from lemma 4

$$\begin{aligned} &\left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) \right| \\ &\leq |g'(x)| \left| K_{n,\lambda}^{\alpha,\beta}(t-x, x) \right| + \omega(g', \delta) \left\{ \frac{1}{\delta} \sqrt{K_{n,\lambda}^{\alpha,\beta}((t-x)^2, x) + 1} \right\} \times \\ &\sqrt{K_{n,\lambda}^{\alpha,\beta}((t-x)^2, x)} \\ &\leq |g'(x)| \sigma_{n,\alpha,\beta}^\lambda + \omega(g', \delta) \left\{ \frac{1}{\delta} \sqrt{\rho_{n,\alpha,\beta}^\lambda + 1} \right\} \sqrt{\rho_{n,\alpha,\beta}^\lambda}. \end{aligned}$$

Choosing $\delta = \sqrt{\rho_{n,\alpha,\beta}^\lambda}$, we have the desired result. Definition-1 (Peetre's K-functional) Let us consider space $C_B[0, \infty)$ consisting of all those functions f which are continuous as well as bounded and possess the norm $\|f\| = \sup_{x \in [0, \infty)} |f(x)|$. Then Peetre's K-functional for $\delta > 0$, is defined by

$$K_2(f, \delta) = \inf_{g \in W^2} \{\|f - g\| + \delta \|g''\|\},$$

where $W^2 = \{g \in C_B[0, \infty): g', g'' \in C_B[0, \infty)\}$ for $\delta \geq 0$ and $C > 0$. Also \exists an absolutely constant C in such a way that

$$K_2(f, \delta) \leq C\omega_2(f, \sqrt{\delta})$$

where $\omega_2(f, \sqrt{\delta})$ represents continuous module of f in $C_B[0, \infty)$ of second order and

$$\omega_2(f, \sqrt{\delta}) = \sup_{h \in (0, \sqrt{\delta}), x \in [0, \infty)} |f_{x+2h} - 2f_{x+h} + f_x|$$

Theorem 4. If $g \in C[0,1]$, then for a constant $M > 0$, we have

$$|K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x)| \leq M\omega_2\left(f, \frac{1}{2}\sqrt{\rho_{n,\alpha,\beta}^\lambda + (\sigma_{n,\alpha,\beta}^\lambda)^2}\right) + \omega(g', \sigma_{n,\alpha,\beta}^\lambda).$$

Proof. Let us denote

$$\theta_{n,\lambda}^{\alpha,\beta}(x) = \frac{n}{n+\beta} \left\{ \frac{2nx+1}{2(n+1)} + \frac{\alpha}{n} + \lambda \cdot \frac{1-2x+x^{n+1}-(1-x)^{n+1}}{n^2-1} \right\}$$

and

$$\begin{aligned} \tilde{K}_{n,\lambda}^{\alpha,\beta}(g, x) &= K_{n,\lambda}^{\alpha,\beta}(g, x) + g(x) \\ &\quad - g\left(\theta_{n,\lambda}^{\alpha,\beta}(x)\right). \quad \dots \end{aligned} \tag{3.1}$$

This provides us

$$\begin{aligned} \tilde{K}_{n,\lambda}^{\alpha,\beta}(e_0, x) &= K_{n,\lambda}^{\alpha,\beta}(e_0, x) = 1 \\ \tilde{K}_{n,\lambda}^{\alpha,\beta}(e_1, x) &= K_{n,\lambda}^{\alpha,\beta}(e_1, x) + x - \theta_{n,\lambda}^{\alpha,\beta}(x) = x \end{aligned}$$

Now, we know Taylor's formula for some function h as

$$h(t) = h(x) + \int_x^t (t-y)h''(y)dy$$

Therefore operating by the operators $\tilde{K}_{n,\lambda}^{\alpha,\beta}$ on both sides

$$\begin{aligned} \tilde{K}_{n,\lambda}^{\alpha,\beta}(h, x) &= h(x) + \tilde{K}_{n,\lambda}^{\alpha,\beta}\left(\int_x^t (t-y)h''(y)dy, x\right) \\ &= h(x) + K_{n,\lambda}^{\alpha,\beta}\left(\int_x^t (t-y)h''(y)dy, x\right) - \\ &\quad \int_x^{\theta_{n,\lambda}^{\alpha,\beta}(x)} \{\theta_{n,\lambda}^{\alpha,\beta}(x) - y\}h''(y)dy. \end{aligned}$$

From here we can have

$$\begin{aligned} \left| \tilde{K}_{n,\lambda}^{\alpha,\beta}(h, x) - h(x) \right| &\leq \left| K_{n,\lambda}^{\alpha,\beta}\left(\int_x^t (t-y)h''(y)dy, x\right) \right| + \left| \int_x^{\theta_{n,\lambda}^{\alpha,\beta}(x)} \{\theta_{n,\lambda}^{\alpha,\beta}(x) - y\}h''(y)dy \right| \\ &\leq K_{n,\lambda}^{\alpha,\beta}((t-x)^2, x)\|h''\| + \{\theta_{n,\lambda}^{\alpha,\beta}(x) - x\}^2 \|h''\| \\ &\leq \{\rho_{n,\alpha,\beta}^\lambda + (\sigma_{n,\alpha,\beta}^\lambda)^2\} \|h''\|. \end{aligned}$$

In order to equation (3.1), we have

$$\begin{aligned} \left| \tilde{K}_{n,\lambda}^{\alpha,\beta}(g, x) \right| &\leq \left| K_{n,\lambda}^{\alpha,\beta}(g, x) \right| + |g(x)| + \left| g\left(\theta_{n,\lambda}^{\alpha,\beta}(x)\right) \right| \leq 3 \|g\| \\ \parallel \quad \quad \quad \dots \quad \quad \quad \parallel & \tag{3.2} \end{aligned}$$

Now for $g \in C[0,1]$ and $h \in W^2[0,1]$, using equations (3.1) and (3.2) we obtain

$$\begin{aligned}
|K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x)| &= |\tilde{K}_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) + g(\theta_{n,\lambda}^{\alpha,\beta}(x)) - g(x)| \\
&\leq |\tilde{K}_{n,\lambda}^{\alpha,\beta}(g - h, x)| + |\tilde{K}_{n,\lambda}^{\alpha,\beta}(h, x) - h(x)| + \\
&\quad |h(x) - g(x)| + |g(\theta_{n,\lambda}^{\alpha,\beta}(x)) - g(x)| \\
&\leq 4 \|g - h\| + \{ \rho_{n,\alpha,\beta}^\lambda + (\sigma_{n,\alpha,\beta}^\lambda)^2 \} \|h''\| + \omega(g, \sigma_{n,\alpha,\beta}^\lambda).
\end{aligned}$$

Taking the infimum on the RHS overall $h \in W^2[0,1]$, we have

$$|K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x)| \leq 4K_2 \left(g, \frac{\rho_{n,\alpha,\beta}^\lambda + (\sigma_{n,\alpha,\beta}^\lambda)^2}{4} \right) + \omega(g, \sigma_{n,\alpha,\beta}^\lambda).$$

Finally using equivalence between Peetre's K -functional and second order modulus of continuity

$$|K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x)| \leq M\omega_2 \left(f, \frac{1}{2} \sqrt{\rho_{n,\alpha,\beta}^\lambda + (\sigma_{n,\alpha,\beta}^\lambda)^2} \right) + \omega(g, \sigma_{n,\alpha,\beta}^\lambda)$$

and hence we get the proof of theorem.

Definition2. (Ditzian-Totik modulus of smoothness) [9] Let $g \in C[0,1]$ and $\phi(x) = \sqrt{x(1-x)}$ then Ditzian-Totik modulus of smoothness of first order is defined as

$$\begin{aligned}
&\omega_\phi(g, t) \\
&= \sup_{0 < h \leq t} \left[\left| g \left(x + \frac{h\phi(x)}{2} \right) - g \left(x - \frac{h\phi(x)}{2} \right) \right|, x \pm \frac{h\phi(x)}{2} \in [0,1] \right].
\end{aligned}$$

The corresponding K -functional of this Ditzian-Totik smoothness is given by

$$K_\phi(g, t) = \inf_{h \in W_\phi[0,1]} \{ \|g - h\| + t\|\phi h'\|, t > 0 \} \quad \dots \quad (3.3)$$

where $W_\phi[0,1] = \{h: h \in AC_{loc}[0,1], \phi h' < \infty\}$. $AC_{loc}[0,1]$ is the class of absolutely continuous functions on each $[a, b] \subset [0,1]$. The equivalence relation between K -functional and Ditzian-Totik smoothness of first order is

$$K_\phi(g, t) \leq \omega_\phi(g, t), (C > 0). \quad \dots \quad (3.4)$$

Theorem 5. For some $g \in C^2[0,1]$ and sufficiently large n , there holds an inequality

$$\begin{aligned}
&|K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) - A_n(x, \lambda)g'(x) - B_n(x, \lambda)g''(x)| \\
&\leq C\phi^2(x)\omega_\phi(g'', \sqrt{n}),
\end{aligned}$$

where $C > 0$ and

$$\begin{aligned}
A_n^{\alpha,\beta}(x, \lambda) &= K_{n,\lambda}^{\alpha,\beta}(e_1 - e_0x, x) \\
B_n^{\alpha,\beta}(x, \lambda) &= \frac{1}{2}K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^2, x)
\end{aligned}$$

Proof. For some $g \in C^2[0,1]$ and $t, x \in [0,1]$, Taylor's expansion states that

$$g(t) - g(x) = (t - x)g'(x) + \int_x^t (t - y)g''(y)dy$$

From here we can have

$$\begin{aligned}
& g(t) - g(x) - (t-x)g'(x) - \frac{1}{2}(t-x)^2g''(x) \\
&= \int_x^t (t-y)g''(y)dy - \int_x^t (t-y)g''(x)dy \\
&= \int_x^t (t-y)\{g''(y) - g''(x)\}dy
\end{aligned}$$

Operating with $K_{n,\lambda}^{\alpha,\beta}$ on both sides, we get

$$\begin{aligned}
& \left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) - A_n^{\alpha,\beta}(x, \lambda)g'(x) - B_n^{\alpha,\beta}(x, \lambda)g''(x) \right| \\
& \leq K_{n,\lambda}^{\alpha,\beta} \left(\left| \int_x^t |t-y| |g''(y) - g''(x)| dy \right|, x \right) \dots \quad (3.5)
\end{aligned}$$

$$\leq K_{n,\lambda}^{\alpha,\beta} (2\|g'' - h\|(t-x)^2 + 2\|\phi h'\|\phi^{-1}(x)|t - y|^3, x) \dots \quad (3.6)$$

according to Finta [10], where $h \in W_\phi[0,1]$. Now for n to be sufficiently large, using Lemma 4

$$K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^2, x) \leq C_1\phi^2(x), \quad K_{n,\lambda}^{\alpha,\beta}(g, x) \leq C_2\phi^4(x) \quad \dots \quad (3.7)$$

From (3.5)-(3.7) and Cauchy Schwarz inequality, we obtain

$$\begin{aligned}
& \left| K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) - A_n^{\alpha,\beta}(x, \lambda)g'(x) - B_n^{\alpha,\beta}(x, \lambda)g''(x) \right| \\
& \leq 2\|g'' - h\|K_{n,\lambda}^{\alpha,\beta}((t-x)^2, x) + 2\|\phi h'\|\phi^{-1}(x)K_{n,\lambda}^{\alpha,\beta}(|t-x|^3, x) \\
& \leq 2\|g'' - h\|C_1\phi^2(x) + 2\|\phi h'\|\phi^{-1}(x) \left\{ K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^2, x) \right\}^{1/2} \times \\
& \quad \left\{ K_{n,\lambda}^{\alpha,\beta}((e_1 - e_0x)^4, x) \right\}^{1/2} \\
& \leq 2C_1\|g'' - h\|\phi^2(x) + 2\|\phi h'\|\phi^{-1}(x) \cdot C_1\phi(x)C_2\phi^2(x) \\
& \leq C\phi^2(x)\{\|g'' - h\| + C_2\|\phi h'\|\}. \quad C = 2C_1
\end{aligned}$$

Choosing $C_2 = \sqrt{n}$ and taking infimum on RHS over $h \in W_\phi[0,1]$, Peetre's K -functional gives the required result.

Corollary1. For $g \in C^2[0,1]$

$$\lim_{n \rightarrow \infty} \left[K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) - A_n^{\alpha,\beta}(x, \lambda)g'(x) - B_n^{\alpha,\beta}(x, \lambda)g''(x) \right] = 0$$

Its proof is obvious.

Theorem6. For $f, g \in C^2[0,1]$ and $x \in [0,1]$,

$$\lim_{n \rightarrow \infty} \left[K_{n,\lambda}^{\alpha,\beta}(fg, x) - K_{n,\lambda}^{\alpha,\beta}(f, x)K_{n,\lambda}^{\alpha,\beta}(g, x) \right] = 8f'(x)g'(x)x^2.$$

Proof. We have

$$\begin{aligned}
& K_{n,\lambda}^{\alpha,\beta}(fg, x) - K_{n,\lambda}^{\alpha,\beta}(f, x)K_{n,\lambda}^{\alpha,\beta}(g, x) \\
= & K_{n,\lambda}^{\alpha,\beta}(fg, x) - f(x)g(x) - (fg)'A_n^{\alpha,\beta}(x, \lambda) - (fg)''B_n^{\alpha,\beta}(x, \lambda) - \\
& g(x) \left[K_{n,\lambda}^{\alpha,\beta}(f, x) - f(x) - A_n^{\alpha,\beta}(x, \lambda)f'(x) - B_n^{\alpha,\beta}(x, \lambda)f''(x) \right] - \\
& K_{n,\lambda}^{\alpha,\beta}(f, x) \left[K_{n,\lambda}^{\alpha,\beta}(g, x) - g(x) - A_n^{\alpha,\beta}(x, \lambda)g'(x) - B_n^{\alpha,\beta}(x, \lambda) \times \right. \\
& \left. g''(x) \right] + B_n^{\alpha,\beta}(x, \lambda) \left[f(x)g''(x) + 2f'(x)g'(x) - g'(x)K_{n,\lambda}^{\alpha,\beta}(f, x) \right] \\
& + A_n^{\alpha,\beta}(x, \lambda) \left[f(x)g'(x) - g'(x)K_{n,\lambda}^{\alpha,\beta}(f, x) \right]
\end{aligned}$$

Using Theorem 3, Corollary 1 and Theorem 4, we obtain

$$\begin{aligned}
& \lim_{n \rightarrow \infty} \left[K_{n,\lambda}^{\alpha,\beta}(fg, x) - K_{n,\lambda}^{\alpha,\beta}(f, x)K_{n,\lambda}^{\alpha,\beta}(g, x) \right] \\
= & \lim_{n \rightarrow \infty} 2f'(x)g'(x)B_n^{\alpha,\beta}(x, \lambda) + \lim_{n \rightarrow \infty} g''(x) \left[f(x) - K_{n,\lambda}^{\alpha,\beta}(f, x) \right] \\
& \times B_n^{\alpha,\beta}(x, \lambda) + \lim_{n \rightarrow \infty} g'(x) \left[f(x) - K_{n,\lambda}^{\alpha,\beta}(f, x) \right] A_n^{\alpha,\beta}(x, \lambda) \\
= & 8f'(x)g'(x)x^2.
\end{aligned}$$

Hence the proof of theorem as required.

CONCLUSION

By all counts and with proven results, it is no wonder to say that our operators considered in this research article are very compatible to the discipline of approximation theory. Results and proof of main theorem are very precisely explained. Eventually, we may conclude that this research paper is explicit.

REFERENCES

- [1] Acar T., Aral A. and Rasa I., The new forms of Voronovskaya's theorem in weighted spaces, *Positivity* 20(1) (2016), 5-40. <https://doi.org/10.1007/s11117015-0338-4>
- [2] Acu, A.M., Gonska, H. and Raşa, I. Grüss-type and Ostrowski-type inequalities in approximation theory. *Ukr Math J* 63, 843–864 (2011). <https://doi.org/10.1007/s11253-011-0548-2>
- [3] Acu, AM., Manav, N. & Sofonea, D.F. Approximation properties of λ -Kantorovich operators. *J Inequal Appl* 2018, 202 (2018). <https://doi.org/10.1186/s13660-018-1795-7>
- [4] Acu A.M. and Rasa I., New estimates for the differences of positive linear operators, *Numer. Algor.* 73(3) (2016), 775-789. <https://doi.org/10.1007/s11075016-0117-8>.
- [5] Aral A. and Gupta V., On the q-analogue of Stancu-Beta operators, *Appl. Math. lett.* 25(1) (2012), 67-71.
- [6] Bernstein S.N., Dmonstration du thorme de Weierstrass fonde sur le calcul des probabilitis, *Commun. de la Socit Math. de Kharkov* 13(12) (1913).
- [7] Cai Q.B., Lian B.Y. and Zhou G., Approximation properties of λ -Bernstein operators, *J. Inequal. Appl.* 2018(61) (2018). <https://doi.org/10.1186/s13660018-1653-7>.
- [8] Dhamija M. and Deo N., Better approximation results by Bernstein Kantorovich operators, *Loba. J. Math.* 38(1) (2017), 94-100. <https://doi.org/10.1134/S1995080217010085>.
- [9] Ditzian Z. and Totik V., *Moduli of smoothness*, Springer-Verlag, New York, 1987.
- [10] Finta Z., Govil N.K. and Gupta V., Some results on modified Szasz Mirakjan operators, *J. Math. Anal. Appl.* 327(2)(2007), 1284-1296.
- [11] Garg S., On a new sequence of q-Baskakov Szasz Stancu operators, *Int. J. Adv. Appl. Math. Mech.* 1(4) (2014): 74-82.

- [12] Gupta V., Higher order Lupas-Kantorovich operators and finite differences, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat.* 115(100) (2021). <https://doi.org/10.1007/s13398-021-01034-2>
- [13] Gupta V., Approximation Properties by Bernstein Durrmeyer Type Operators, *Comp. Anal. Oper. Th.* 7 (2013), 363-374.
- [14] Gupta V. and Agrawal R.P., *Convergence Estimates in Approximation Theory* Springer, Berlin (2014).
- [15] Gupta V. and Tachev G., *Approximation with Positive Linear Operators and Linear Combinations*, Springer, Berlin (2017)
- [16] Jain G.C., Approximation of functions by a new class of linear operators, *J. of Austral. Math. Soc.* 13(3) (1972), 271-276.
- [17] Kantorovich L.V., Sur certains developements suivant les polynomes de la forme de S. Bernstein I, II, *Dokl. Akad. Nauk SSSR* 563(568) (1930), 595-600.
- [18] Korovkin P.P., On convergence of linear positive operators in the space of continuous functions, *Dokl. Akad. Nauk. SSSR (N.S.)*, 90 (1953), 961-964 (In Russian).
- [19] Özarlan M.A. and Duman O., Smoothness properties of modified Bernstein Kantorovich operators, *Numer. Funct. Anal. Optim.* 37(1), (2016), 92-105. <https://doi.org/10.1080/01630563.2015.1079219>.
- [20] Stancu D.D., Approximation of function by mean of a new generalized Bernstein operators, *Calcolo.* 20 (1983), 211-229.